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Topic: Mathematics-Section A

Iltem No: 1

Question

D 100201

Question

Type: MCQ
R={(a, b):b=pgq, p LOOMILD q eTaTLIGT LGT eraurgeT Goad p, q = 3} ererm QgL

Question: | {1,2, 3, ..., 60} eremm 5@55]@5]@;'5@1 250Cs o drersrsald, @UGumpg R -6
2 amem 2 miUiL&eflen erevrentldans :

A: 600

B: 660

C: 540

D: 720

Topic: Mathematics-Section A

Item No: 2

Question ID: 100202

Question Type: | MCQ

Question: | 7 =2 43; grafled, z° + (Z)° =

A: 244

B: 224

C: 245

D: 265

Topic: Mathematics-Section A

Item No: 3

Question 100203

ID:




Question

Type: MCQ
A oMb B eremuer 3 X3 auflensujenw LFdlwwnn senflger womb AB=0.
Question: | @M@ 0 ererugy 3 %3 euflengwenLw L&fw jemtlm@id.
AX=0, x=[xy z]T ererrp FweTLT’ (H QaTEUGADE EpsaTL org Flwrs @)(HEELD.
A: gweturl(h dgr@lldng @Cr g Siey 2 e
B: geturl () Qer@lbn@ aaremrnn Sie|ser 2 ar(®
C: B ereoim oiewilé@ erdlmomm et o ewor(h
D: adj(A) ererm emil&@, erSmomm 6wt 2 aor(h
Topic: Mathematics-Section A
Item No: 4
Question
D: 100204
Question
Type: MCQ
1 1 1 I 2 <
+ +...+ = , erafléd, a -@o
Question: | (20 —a)(40 —a) (40 —a)(60 — ) (180 — a)(200 —a) 256
BUGEu@m wdliy :
A: 198
B: 202
C: 212
D: 218
Topic: Mathematics-Section A
Item No: 5
Question
D: 100205
Question
Type: MCQ
. ae’ +Be " +ysinx 2 : . 5 ; ;
Question: ;Ic]f{l) p— = =5 a, B, vy € R, SjuUgumarme, &gga;a;rraﬁrrruﬁeu er gl

sflwae ?




A: o2 +B2+y2=6

B: o +Py+vya+1=0
C: aB2+B12+’YR2+3=U
D: O = BE il ,YE =4

Topic: Mathematics-Section A

Item No: 6

Question ID: 100206

Question Type: | MCQ

2
. 1
Question: anm&.‘uﬁ@\ j' : Qe =
A 3 4 2 sinx + cosx
A; tan~1(2)
B: tan"1(2) - =
4
1 _
c: “tan"1(2) - =
2 8
D: l
2
Topic: Mathematics-Section A
Iltem No: 7
Question
D: 100207
Question
Type: MCQ
(1+e2x)[g_y +yJ =1 eTam UMSSEI&H(Y FLOETLITL 1q 60 (D, %) eTaTm LleTar
X
Question:

aulfICw Ceoed Srey euamareuany y=y(x) erens. @UGILITLHS 311'_1;1,e"yr(;xc) =




A i
4
B: 3_11.
4
C: i
2
D: gﬂ
2
Topic: Mathematics-Section A
Item No: 8
Question
D: 100208
Question
Type: MCQ
bx+10y—8=0 wmmib 2x—3y=0, be R - {%} ararm Garhsailer Gleul_(hw LeTafl
Question: auflGw L ererm Gar(®h Gsodlpng. GCuoaib L ererugy (1, 1) ererm Leret eudGul
eston: Qeveugrseayd, 17(x2+y?) =16 ararn el Leng DgmhHeusrseb emwdlng.
2 2
Qudumpg % + g_2 =1 eramm Hereul L gdlew enwow Wsmenedsse
24
A: —_—
/5
B: E
5
1
C: —_—
J5
D: E
5
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Iltem No:
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Question

D: 100209

Question

Type: MCQ
A(-1, 4, 3) erarp yeraflullell(pbg P : 2x +my+nz=4 aTarp FargHlen L5gmen
Qen@&sg iglyeraiuflen ,u1g0sTena alser [_2, Z E) erens. @ UGumps)

Question: 2 2
A -l mpbg P ererm sarsSm@ 3, —1, —4, etarm Heng A GaseT 2 LW
Camlign@ @eearuns euanruddalywl Camiger Ber :

A: 1

B: J26

C: 2.2

D: J14

Topic: Mathematics-Section A

Item No: 10

Question

D: 100210

Question

Type: MCQ
— AA " A A A . — (—> —}) — — . -
a=3i+j womo b=i +2j+k eTal& a X\bXxX c/=Db +Ac eapaurm c

Question: ) o L - > ) )
crarm CeusL T SMBHSIETETE. b WOMID ¢ TERTURT Q) el TaTeney ()60 emea
GTETMMTE, A -6 LGILIL

A: -5

B: 5

C: 1

D: -1

Topic: Mathematics-Section A

Item No: 1

Question

D: 100211

Question MCQ

Type:




e Camynsdlen GoGaudl(mba <isnNE euLsELUSSD 2 arer Lerefl A -ulledmhg
gHDSGaTanTd o @. A -uleli(mbg Copars 9 Aw@sar gmsdaerer Lararfl

tion:
Question B -uilell(mbg ermm&Camantd cos ! [%} Carynsdm@ yerafl B -&@Ld
@ e Guiwyérer FMrb 15 SAe@ser eraild, |cota] =
A: é
5
B: 2
5
C: E
3
D: z
3
Topic: Mathematics-Section A
Item No: 12
Question ID: 100212

Question Type: | MCQ

Question: (PAq) = (pAT)eTeTD FaDMI&E FODTET SaDm)
A: q=(pAr)

B: p=>(pnar)

c PArt)={Prg

D: PArq =1

Topic: Mathematics-Section A

ltem No: |13

Question | 190213

_]Q_}I;Jpees:tion MCQ




A(a, 3), B(b, 5) wmmib C(a, b), ab > 0 W Yeraflganer (panarserms 2 el L

Question: | (p&Garamrddlenr anpmeul L enwwibd P(1, 1) @w. AP erarm Gam( BC eremm
GarlenL Q(ky, k,) ererm Yeraflufer Geul Hdlmg. @uGlumupg) k, +k,= :

A: 2

B: E
7

C: g
7

D: 4

Topic: Mathematics-Section A

Item No: 14

Question ID: | 100214

Question

Type: MCQ
. LD HmILD b eratm GleucuGaummen @ GleusLsEnsEE @ Gu 2 drar Gasrentld

Question: E 6T 5. [; + b) Lo M LD (3 T QB . 2(3 x i;)) eraim GeusL sEnsE @ Cw
o arar GaHmeanTld 6 ereviley, 164 cos2 =

A 90 + 27~/2

B: 45 + 182

c: 90 + 32

D: 54 + 9042

Topic: Mathematics-Section A

Item No: 15

Question ID: 100215

Question Type: | MCQ

Question:

a3

flo) = { k’lg%: dt, o >0, erafléd f(ed) +f(e 3=

9




B: 2

2

9

C: _

loge (10)

9

D:

2 log,.(10)
Topic: Mathematics-Section A
Item No: 16
Question ID: 100216
Question Type: | MCQ
Question: {(I; y):lx—1l<y=< N o xz] eTe1) LU@GSludesr LrliLieney :
A E S]Il_l [E) i l

2 5 2
B: 5_11- — E

4 2
C 3_11- <+ E

4 2
D: 5_11- —_ 1

4 2
Topic: Mathematics-Section A
Item No: 17

%{es“on 100217

Question
Type: MCQ

P : y?=4x erenrm LFeuaneTwSSlen @edlw Brewr L : y?=mx +c eTerlig| LIFeuaeTLSHens
M wpmd N eremn Letaflaailey sndladlng. Coaub L ererug H : x2—y2=4 erem
Question: | Fureuanerugdlen QA THCHET(H Y GW. UFmeueTwDd P -a1 (penar O & e,
SiFugeuemeruid H -6 x -&&85@ Wans WgdHule o drer @ellwwb F, ereflev,
OMEFN eremm BrHSredlen LFLiLene,] :




A 26
B: 24/14
C: 4.6
D: 4./14
Topic: Mathematics-Section A
Item No: 18
Question
D: 100218
Question
Type: MCQ
_ f:R > R bpmd f(x)=|x—1lcos|x—2| sin|x — 1|+ (x — 3)|x2—5x + 4| eTati) FTTES
Question: . : 5 ;
cuaaullL (piguing Leraflsafler cramranilsams :
A: 1
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 19
Question
D: 100219
Question
Type: MCQ
S={1, 2, 3, ..., 2022} ererTm a;eﬁmggaﬂ@j;gj gwaumiliy (penmuliléd em eranr Ggifley
Question: | QewliuBEpg. Nbs ereawmentH@EL 2022 -&@Ww BUCQUTm cugsdd 1 erem
SlmweusnNETer Hepssey :
A: ﬁ
1011
B: 166

1011




c. 127
337
D: E
337
Topic: Mathematics-Section A
Item No: 20
Question ID: 100220
Question
Type: MCQ
_f{_r)=3(-‘f2—2)3+4, x € R eraiin FMTL&®S, &@ésasaim_ S DM HEDETS S(HEIS.
P:x=0 eramug f -ullerm ep(m LGS F1MHs WBES M Lerer
Question: Q .y = 2 eTerugl f-udlem e eueneTey MMM Ly6Ter]
R:x>2 eTed Qumpgl f* e Fa(hbd &y
@QUCUT(GI, SDESHETL 65 2 amaln ?
A: P opmid Q L (Hib
B: P wpmiid R L (hib
C: Q wHmID R WL (HLD
D: P, Q mmid R feneid gD
Topic: Mathematics-Section B
Item No: 21
Question
D: 100221
_I(?;pees:tion Numeric Answer

S=1{0 € (0, 2m) : 7 cos?0 — 3 sin?0 — 2 cos?20 =2} GTEuTS.
Question: | @ QuUIMLYG) x> —2 (tan? + cot?0)x +6 sin®0 =0, 0 € S GTED FLOGTLITL_IGET CLPEOBIGETI6
gal_(h50sTens

Topic: Mathematics-Section B

Item No: 22




Question

D: 100222
Question .
Type: Numeric Answer
X1 Xpp o o X GTETD 20 reysatier spmafl wHmIb ureudHuly wenGw 15 Wwhmib 9
Question: | eTéli®. « € R eTaLSNE (¥, + )% (Y +a)? . . ., (¥ +a)? eraruaeundler sgmafl 178
erafley, o -6 euiTGasGSHlen LG, Wiy
Topic: Mathematics-Section B
Iltem No: 23
Question | 490223
Question .
Type: Numeric Answer
a, be R crenns. a, —4a, —7 creruemeupenn Slens allflgrsarrs o amw GCam(,
3, =1, 2b wHmib b, a, —2 erenim Fleng elldlgmser oL w Cam(hs@Enrs@ Clom GEsns
Question: x+1 -2 z . . .
2 _GTeTg). T = g 3 = T erem Cam) x—y+2z=0 crarm HeTSHMS (o, B, ),
az +b a‘ —b 1 '
erarm Laremufe Geul (h&lmgl. a+p+y -ar waliy
Topic: Mathematics-Section B
Iltem No: 24
Question ID: | 100224
Ques.tion Numeric Answer
Type:
oo
. dr ~ -
Question: a,, ay ay, . . . GreTig)l 6 dnl (h euflenagsmi, Z o =4 creutlev, 4a, =
Topic: Mathematics-Section B
Iltem No: 25
Question | 490225
Question

Type:

Numeric Answer




[%ﬁ + %J ererm FE(HLIL eSlfleumdsid % -ar S(hEGsaiear gm elflanguie

Siemwdlng. @QUCAuTLpg wWwadlmba 5 eug 2 nlidn@n sl Fulleimbg 5

Question:

<geg e nubpeb @aruloraeldlgn e :1 UEGLd. @g,aﬂ@j)gj 6 = 6ug

. o )
2 MmUY ——= eTetlley, o =
o i3

Topic: Mathematics-Section B
Item No: 26
Question
D: 100226
1Q_ue§tion Numeric Answer
ype:

0 wHML 1 JHwaraunpen e mliyserns GarearL 3x3 afleng ) ewiluldlen
Question: | o miiysaflen a(hH @(H LSTET Tal WD 2 eanflsafler orewranflsans
Topic: Mathematics-Section B
Iltem No: 27
Question
D: 100227
?ues.tion Numeric Answer
ype:

P LDMILD p+2 GTTLIET LIGT GTe0&ET LOHDILD

p! p+ 1! (p+2)!

A= + 1)! + 2)! + 3)! ;

Question: (p P * ) ©ToUT.
P+ 2) (p+3) (p+ 4)

p* wOHMID (p+2)P eTaTamey A -@6u U@GSEGLMM 2 6TemT HSLLEF O &EGS6T

a HmD B -sefler sahge
Topic: Mathematics-Section B
Item No: 28
Question ID: | 100228
?ues.tion Numeric Answer
ype:
Question: 1 . 1 iR 1 5 1 k eresiley, 34k =

-|-__‘ —=
2X3x4 Ix4x5 4x5x%x6 100 x 101 x 102 101




Topic:

Mathematics-Section B

Item No: 29
Question
D: 100229
_Crlue§tion Numeric Answer
ype:
tostion, | 5= 14 6 %) wDDID T=(9,10, 11, .., 1000} 1éns. A=fay+ar+..+a ke N ay, a5 ay
Heston: . ay € S} eratled, T— A ererm semsdlayerer o miliL|Saetlen &n(hge=
Topic: Mathematics-Section B
Item No: 30
Question ID: | 100230
_?;pees:tion Numeric Answer
: 242 —2x—6y+a=0 GI'GﬁTﬂj L gHnE y=x+1 erarm Camigear’ Qummss
Question: &GﬁﬁTthﬂTl'l'Lq_ Qibub ¢y : 522452+ 10gx+10fy +38=0 y@WD. r TTLG c) -6
< rolwefld a+6r? -6 W&y
Topic: Physics-Section A
Item No: 31
Question
D: 100231
Question
Type: MCQ
2 NSl mpm) (A) :
@@ dreusd geatluller emewe] Crrd, T urly @weilens, S dreusdlen LTG5
3
p, slafludler =7id r Y Fleunenmul sribBgieTens). T = K F’% uflwrewriiuig sflwrs
\J g/2
Question: o dreng).
@@ K uflioresromma.
&ressto (R) :
uflorel u@lurdemell Lweatuhdl, eueg USSL LM DTaESET, enea6y
Crradnsmrer Lt wrewmhisatedl(mbg Ceumui(hdlemmer erem Brd CUmSGomLb.
A (A) womibd (R) @rarhin gfl. Goeayb (R) eremug (A)uller sflwumrer aflerdsid

<24, GLD.




5 (A) bpmid (R) @rer(hib il gy emmed (R) ererugl (A) Wenr aflwren allerdsid
' N
C: (A) #fl g armmed (R) $eum)
D: (A) seum =ermred (R) il
Topic: Physics-Section A
Item No: 32
Questi
Dot 1100232
Questi
T;Jpees: ion | \ica
h 2 WITgeng LM 6@ Ubg @ GG L HosCaissg L ar G GCrrsd
Question: | erdlwiLihdlng). g 2 wrgdla umbg Cuwle QFaab Gurgb &G eumb Gurgbd
T(h& g5 Qamar@epbd Crrmsatlier al&lsn
A: JE =1
J2 +1
B: Jg — \/E
V3 +42
C: Jg —1
V3 +1
D: l
3
Topic: Physics-Section A
Item No: 33
Question ID: | 100233
Question Type: | MCQ

Question:

dx

t=4x + 14, (Ejt=4 -

1




B: &gﬁ]
C: 8
D: 16
Topic: Physics-Section A
Item No: 34
Question
D: 100234
Question
Type: MCQ
uLgdle sriLlul (ererg Gumed @@ el(pel(puUrer el L euflliLéTerLDd
au(peu(pLILITen ClFm@sg eTevanad seauamys amear(HeTergl. (m) Hlenn CsramTL em
slanl (v) Cousgdlar sauflar g Cgr _H&bsramh cFbdng.
. Yereumeuaraummier aThss Carlh sourme sLenluler Ge CFweoumn Cleni@sg
Question: ergliralleanss@d (N) slanullen Geussslh@wmear (v) Qgriiamus GOl GEng ?
N
A:
v
N
B:




C:
v
N
D:
Vv
Topic: Physics-Section A
Item No: 35
Question
D: 100235
Question
Type: MCQ
E @Quss nmed Csrarl em upg deLwlL sdnE 60° Careawmsdle
Question: | erdlwliLh&mgl. upgsedlen 2 &80 Lerafludler @bl LiBHer QUGS DD 6TeueTm)
LOTMID ?
A: Ergﬂ
B: E
2
C: E
4
D: E
Topic: Physics-Section A
Item No: 36
Question
D: 100236
Question MCQ

Type:




1 kg wpmib 3 kg HlenpGaremrL @ ek urmersafler Hlane GleusL et wpenmGu

Question: i +2? +k LD ) MILD 34 —2? +k S GW0. @hs SemwlldnsTear Hlam i ssler
Blene GleugL fer eramr wdii Wereumbd ethg GeusLfler ereawr wdliiyssE @Gy
DeTeaUns @(H&EGHD ?
A A A
A i 427+ k
A AA
B: =31 =254 k
A A
© —2i +2k
AA A
D: — 21 = § $2k
Topic: Physics-Section A
Item No: 37
Question
D: 100237
Question
Type: s
2 MFHlS Fapml (A) :
erarlenTl g Sifev Ligbhs e seer Brme &peldl &&Hb Caliu wpgwing).
Question: | gryewoTid (R) :
Farafler eramblentii odag SifcvsEn Bmasdgn @amLCuurar CarCasmeanTd
el CarenTions 2 ererg).
A (A) womid (R) @rawr(hid gfl. Goeayb (R) eremug (A)uller silwumrer aflerTssid
' < GLD.
5. (A) bpmd (R) @rear(Hb &fl yeamed (R) erarug) (A) e sflwrer edllardsid
' |G
C: (A) #fl gy ammed (R) Heum)
D: (A) seum emred (R) il
Topic: Physics-Section A
Item No: 38




Question

D: 100238
Question
Type: MCQ
_ @@ sbldufear Bard @@ WLLEISTEED AF6 2,TD UTHLTEaD WwrHHLILL LT
Question: ; ¥ & g ; p :
s Cewwdul L Qummefler wWhiGaTsD
A LIYTL HCH aTey @) (HSEGLD
B: g6 WeT_&s Wwllider 8 L ki@ dlsilasEn
. s e - .
c@-lg;ﬁ'ﬁl’ g;-I'I'I_SS&'r LDQU o0l 4 LDI_I'E.I@ @@)DMLD
D: 2IBe WHT_&& WwHder 4 LRsTE s Tl&E0n
Topic: Physics-Section A
Item No: 39
Question
D: 100239
Question
Type: MCQ
L Berd Garewr_ e Safl 2aad e saridlufler smenruier QgmmbigallLiLil (Heterg).
Question: | a #mileyd Camenrd Gamarr 2 grieupm i sergde caridl SPCHTEE BsTHng).
sargadlen jenea| GrrLD A5 Q(HSEGLD.
A: 21'r\/L/(g cosw)
B: 2m,/L/ (g sina)
C: 2m/L/g
D: 2m/L/ (g tana)
Topic: Physics-Section A
Item No: 40
Question
D: 100240
Question MCQ

Type:




e Cararad Fw&sm e L U1 Lifeud sHsLLIGHDG. igen Werepr L oL &
Yereupomm wrm&lng).

3 r
| ) 1
o(r) = p0[4 R]

&L sr>R
Question: | @I r(r <R) erarug) GCarerenwid O -allelmbg P-uler srensvey 2@ . (LULSH6
sriigwieumm) Lerefl P-ev 2 émer Liléwm jeid
" P (E - LJ
deyg \ 4 R
. pp T (3 B I’J
| 3¢9 \4 R
C: M [1 — l}
4 €p R
D: p.;l‘ [1 — i)
5 €p R
Topic: Physics-Section A
Item No: 41
Question
D 100241
Question
Type: MCQ
Fgapm I: Wearanpssd @@ sL5586E 2 atGarb 2g6ar SerddHe)bd IDHTLDE
Question: @@é;@ﬂ:}.
gampml 11 : e b sLgdlufer sergdled o erer eeubeurm Latafluiaid sarsHnEs
OsmIGSSTS 2 6Teng|.
A:

I wpmid I GrarHin il




B: I wpmbd II @rewr(Hibd Seum)
c: I &1l gy,emmred I Heum
D: I seum =armed II il
Topic: Physics-Section A
Item No: 42
Question
D: 100242
Question
Type: MCQ
R5%5 era|smersd Garar @Qrean® 2 Corssd swlser GarLir Geneamriiie
Question: | @enemT&EsLILIL(HeTaTan. eupplern &g Hmenser penmGu oy WOHMILD o, 6rele
2bBS @enalder LwWam SLSF Sme
o1 0
A: 172
01 + 09
2010
B: —Ul -
01 + 09
oq +
C: 172 02
2(}'1 09
oq +
D: 1_0-2
0102
Topic: Physics-Section A
Item No: 43
Question
D: 100243
Question
Type: MCQ
— H Wlerblenewid Gamenr lenganriqujerer e Wlem &mmi&@ E=440 sin100wt
0
Question:

aTepld wrpdlens War@uéy allens alsstiubGEpg. WBearsandlea @@ a.c.
QDB LT @enenssiLBEng erafled B L M6 2jare] eramameurs @HEEGLD ?




A: 44 A

B: 155 A

C: 22 A

D: 3.11 A

Topic: Physics-Section A

Item No: 44

Question

D: 100244

Question

Type: MCQ
1H e lenaioptd 100 Q e HenL_u|b QEreTL_ ep(h Hb19N& s(HeT 6V Lilemsed gL 6o
Genamés L IL(HSng.
STEEH (D&

Question: | (a) wrpmHlene w6 LT ere] QUmUSDE, W sLlbg Curer CryLD
(b) Werandler WerGermLb urws Gerimdl 15 ms CrprsdnEl Ger swb9F

smatle) 2 (Haum@Ld sTHEL Leddler Callss LD ,nme :

In2=0.693, e~3/2=0.25

A: t=10ms; U = 2 m]

B: t=10ms; U = 1 m]

C: t=7ms; U =1m]

D: t=7ms; U =2m]

Topic: Physics-Section A

Item No: 45

Question

D: 100245

Question MCQ

Type:




UL iquiev - I -g3 L iquieo - I -2 1 éir Glummsa)s.

UL lqulev - I UL iguiev - II
Question: (a) UV sdliger (i) msgleus gienmuier Crmi sHevr_mHge
Hesten (b) X-sdliser (i) BT gnienwwLTEsSED
(c) mleuTEnTEn6D (i) sseue Ggmiy, Gromr
(d) =s&dleauliy e (iv) wefl pratsetey sridl erevenceni iHsioHe0
A: (a)-(ii), (b)-(ii), (c)-(1), (d)-(iv)
B: ()-(ii), (b)-(), (c)-(iii), (d)-(iv)
C: (a)-(ii), (b)-(iv), (c)-(iii), (d)-()
D: (a)-(iii), (b)-(3), (c)-(i1), (d)-(iv)
Topic: Physics-Section A
Item No: 46
Questi
Dot 100246
Questi
T;pees: ion | vica
UG qetdsdlflar oeme Berd A erafled eravdl yraflen @uiGs 2,Hme E @b, iHer
Question: | dllienu 2E -&@ HsflliusnE U@ eatullear sma BeTb eremaralrs @)(Hés
Ceuewr(hid ?
A: L
EX — hc
B: hcA
EN + hc
C: L
EN + he
D hcA
EX — hc
Topic: Physics-Section A

Iltem No:

47




Question

D: 100247
Question
Type: MCQ
MADIGTNET AN 2 6TeT 6TV [Tl 6or
i) S@wdssiulL @QrerLreug QRHme WLLLSHN MBS WSHT6UG
wLLSHDE @enL Cuwirer Blenewrbpsslearme o (Heur@h o CurL rerser e
Question: <2, MMEY| & (&LD
(i) @HEsulL 10§ 2 WS 2,Hme L L SSmbg enddsiul L (PS5
L 55nE Qe Guwrar Hlenewrhnsdlearnme o (Heur@Lh «.GCumlL_rearserfler
UDOPVIEGD QLG 2 drer a1lHlgSHmas SHrews :
A: 34
B: 4:3
C: 1:4
D: 4:1
Topic: Physics-Section A
Item No: 48
Question
D: 100248
Question
Type: MCQ
Question: 8V.Lnrrg11u-rr® @:Esrrsa'n'rl_ aig& LaTGLDD Sienevuldler Clumw 6iFs 9V erafld LiaTGLDD
GT GHTENEOTE ST TS
A: 0.8
B: 0.5
C: (.2
D: 0.1
Topic: Physics-Section A
Item No: 49
Question
D: 100249
Question MCQ

Type:




(1 B HiETCanradl (paemend Sere|Caraled ¢h CF.5-d 20 19fleysemeryd
Geurreflwm yemeyGaredle) Gwrggn 50 Gfeyseameryw Carear(herarg. 25 Cleureflwim

Question: Whleysefler wlliy 24 wagarewws Csrer UfleysEpsa@ swb aalle @QBS
BarCenradlufen WBFADDETE :
A: 0.001 cm
B: 0.002 mm
C: 0.002 cm
D: 0.005 cm
Topic: Physics-Section A
Item No: 50
Question
D: 100250
Question
Type: MCQ
Hm@ lereflenwis Lwemhsd swldlufer el b sramib Gergemeruied 1erelmLDd
SleraI(Hser GNSsILLLar.
PQ [
= |
Question:
(A)  pgearennd Camedled e (WPWHF HOMIGSE $(hH@E 0.5 mm pa&T&Hmg).
(B) eulL & Garelley 2 arer Gwrgsls Yfleyser =50
(C) wserennd Csmed erei 2.5 mm
(D) eulL & Garellen 45 eugy Yilay LflaCarer Camriige oienbgleTeng
(E) a@medl 0.03 mm erdliil Yenpenwis Glamer(hemearg.
sGuller eSlLL LD eramemeurs @QH&@LD ?
A: 2.92 mm
B: 2.54 mm
C: 2.98 mm
D: 3.45 mm
Topic: Physics-Section B




Item No: 51
Question
D: 100251
_?ues.tion Numeric Answer
ype:
b Carangdled u Heng CoussgiLar srodled e Gurmer erPlwiLhdng. R eremgld
Qu@pw HeoLgger phHesn eearereurm erdlummaller @Quasn e wdpg.
_ AgrL&ss ApdHassdear urdwuere] ApH&Esn 2 erereurm WLHEDTEH Gum@mer
Question: . . . . . .
erplwiL(hdlmgl. @@ Hlspeasaflab Qgr_&s HasGaisbd by ojeTeurs @(Hadng).
@rewreug GQummer erdplwiLBb Hlspeie erml Gamentid g Sl 2,5
QmEELD.
Topic: Physics-Section B
Item No: 52
Question
D: 100252
?ues.tion Numeric Answer
ype:
HelgsersSlalmbg h o wirsdler 2 arer ey Lerafl Hlenm o ewrmd UL WPp(H&HSLD
| yelgsargflalmbgl ah (h << R,) sl niyeredl Hleap o @rmn iy
Question: R . ; i .
Wh&555DEF s erelled 2 6mengl. o -6 WS
(R,=6400 km erenrll Lwer(h&5)s.)
Topic: Physics-Section B
Item No: 53
Question
D: 100253
.IQ.ueS_tion Numeric Answer
ype:
@ T erar_Crmd Qawepenpuiled Py i(WpsswpLd d; SLTdSb ClamearL rriyeaml
7 R T I S— .
QUL ['y = EJ Slie e Po(>P;) 3I(p555HDGD dp L_TES&EG0D rmidlmg). eumueler
Question: Qeutiuflenew QgrLss wSllenus Gume LG SlshEdng.
(3_2 — 32 eramé QarEsriu Herers)
1
Topic: Physics-Section B

Iltem No:

54




Question
ID:

100254

Question ,
Type: Numeric Answer
@m GCura eram eumw cpearm CLTLESET FFam UMW L6l &b ETeTg).
rpriu@oeaie eumydsoeameuuider (podsmm sardeulil  goyddHmer
Question: | 2 ) ) o
IR J/mol K, a-ér Wl A5 @\(HEGLD.
(Qarhssuul L Fran eumwelln@ idltey LThi@ e wrg erands Gemes)
Topic: Physics-Section B
Item No: 55
Question
D: 100255
Question .
Type: Numeric Answer
Qar@ssiul L Weasndler euPCw umruyw WerGermL b A =5
QmEHGLD.
9() 90 91}
Question: A% Wy VWV
IA
L
"6V
Topic: Physics-Section B
Item No: 56
Question
D: 100256
1Q_ue§tion Numeric Answer
ype:
5cm b CQarar. (BHSSLIsEsE SHOUULL el Lé SDIGF SH@meT Q6 g e
ewwgdler 37.68 x1071 T srHsll Lodmd 2 (HeundsGHng.
Question: : ; : ) "
smem euplwirg umyw WlemGermL b A.
(ahmisetier erameantlsens 100 erama|bd w=3.14 eren CarHEsLLL(DeTerg))
Topic: Physics-Section B
Item No: 57




Question

D: 100257

_I(?;pees:tion Numeric Answer
41 wHmb 91 Cedlejsear CararL @Qram® qealssdiser m dHaruild GnsEMH

Quest Qawnidlenmmer. Slengullery A Letatluder sdlraenpsdlen_Guujerer st Coumur® &l

uestion:

< @Wh. B yeratluiler sl Caumur® = 86 2ererg. A wHmb B yeraflsafle
Asm@uwer Cadleysetier Gaumum I 98 SieLowL.

Topic: Physics-Section B

Item No: 58

Question

D: 100258

_?;pees:tion Numeric Answer
314 em fBerb Garawr 14 A WenGearrL b uryb &0 @earm el LLrs

Question: | cueneTdsLILIHEDG. sbAFsmefler arhas SmlLd Sner A-m? 9y,@Lb.
[Qar@H&siiu’ L 7=3.14]

Topic: Physics-Section B

Item No: 59

Question

D: 100259

1Q_ue§tion Numeric Answer

ype:
M, oHmIb M, ererm epatl LG Femenld Csmeamr @), 2ar_smkiseatfler ereanauwing X-Y
gerd er(hHg& CsmereriiL(hdimg).
M, (Z=0) é gparfl cllovged eraim /2 Cogyd M, (Z<0) a afl ellewsd eramr /3 <@ L.

Question M, osm_g&dle 1_; = 4\/5? = 3\,@? = 51? el GeusLFred GOISSLILILL 6If epatlhadlim
oar_gmiseerll f&@h sarddle uhidEng. M- 2 arer LHCETaTSH D@D My-6d
o arem eflew@ CaramgdlnEg Qe Cuujerer Caumuim(h g dfl s
GG

Topic: Physics-Section B

Item No: 60

Question

D: 100260

Question

Type:

Numeric Answer




p-n spdlullen Gn&ECs 2 drer Wleman(pss iyenr 0.6 V ereafldd 6 x 1076 m geperer

Question:
estion Quissileoar u@dude e g Camley x10° N/C <28 @/(H&GLD.
Topic: Chemistry-Section A
Item No: 61
Question
D: 100261
Question
Type: MCQ
Quest SLpsarL @aansatld) 6THS amled 2 6TeT pPOEFMIGET H&TSE 6Tevd L Tmem olsmair_
uestion:
wHmid elfleuemLbs 6Tl (h eresL e epe&damseeTd Clsmer(hererem ?
A: BCl, wmmib SF,
B: NO wpmiw H,S0,
C: SF, wpmiw H,50,
D: BCl; mmitb NO
Topic: Chemistry-Section A
Item No: 62
Question
D: 100262
Question
Type: MCQ
NZ(g)+3H2(gJ = ZNH3(g)
Question: | gremmm Gomsearr eflenemuied 20 g N,, 5 g H, 2 L a1 sssiLhEng erafld dad@Ei
< Coraflwmeller erenL Slymb. (ellenL : Dl 2 aremr (p(Lp eremTaniled)
A: H.,, 1.42 moles
B: H.,, 0.71 moles
C: Nz, 1.42 moles
D: I—Iz, 0.71 moles
Topic: Chemistry-Section A

Item No:

63




Question

D: 100263

Question

Type: MCQ
100 mL, 5% (w/v) @arawL NaCl senggea B Gsramw® @ 250 mL S&sfle

Question: | swrflsslul(H As@iLer @@ WwLaLuler oyblar Coarsslul (B Herg
s0&ELLMNE DG, erafle) HenL&@h Henrge :

A: FSOLLTEN all(HLOLLD FalDLOLD

B: FnrLUTer Cleum&@Ld FalpLold

C: FlenLLILIg) 6(h FalDLOLD DIV LOMMTS & 6(hH LITELOLD

D: eLpLIgG GUTEHSH [Hl&(LpLD

Topic: Chemistry-Section A

Item No: 64

Question

D: 100264

Question

Type: MCQ
Na, Mg wpmib Si gpdlweupiler pser weflwnrge erengreld wpenmGus 496, 737

Question: | wdmitd 786 k] mol~! erafler Al-enm (pHed walwrga eremgmeoldl wgliiy k] mol 1
el :

A: 487

B: 768

C: ST

D: 856

Topic: Chemistry-Section A

Item No: 65

Question

D: 100265

Question

Type: MCQ

Quest “gri’ erenn saflnd sflenel GHLIAHL LD 2 Corseilwede SHSHTL oTeansd

uestion:

G@D&EDg ?




A: GCoeneuwimm Lall wr&l lummL setler &6l
B: UIN&CEsH&EW0 2 GCaorssans sellTsg sl o drer Yn 2 GCarshigeT HaLiL
C: Quneasuild daLs@ gnu 2 Corsd saflohiger
D: GGG 2 CTeT STHGSH SHEMENLOW|ETET LOMG:SHSHGT
Topic: Chemistry-Section A
Item No: 66
Questi
Do 100266
Questi
T;Ipees 1on MCQ
Question: FSHBTHD Wesweare| BTés srrsgLen allanarul(h emanl Fmer 6url|amael
estion: GleuafleliB&lpg. isaL6m o (Heur@ wHepmm eSlenerGLm(merT :

A Zn(OH),
B: ZnO
C: [Zn (OH)4]2 -
Topic: Chemistry-Section A
Item No: 67
Questi
Dot 1100267
Question
T;pe:I MCQ

_ OlgHwd enplCrl womb Cergwid aplCrieoL gallgsallurs GhHubBss
Question: .

Flen_LiLieneu pennGul :

A LiNO, LDﬁjg}JLb NaNO,
D: LiNO, wmmid Na,O




Topic: Chemistry-Section A
Item No: 68
Question
D: 100268
Question
Type: McQ
Quest SCl,, O,, CIF; whmitb SF, pdlueunmler el 2iam Lﬁg,weﬁr Saflss erevsL_[me
uestion:
Caymggeflen eramentlEens wpenpGw :
A: 0,1, 2 wOHMILD 2
B: 2,1, 2 wpmio 0
C: 1,2, 2 womib 0
D: 2,1, 0 wpmid 2
Topic: Chemistry-Section A
Item No: 69

Question ID: 100269

Question Type: | MCQ

Question: Fsar 2 Cars weallsailer @amansailedy HlpwHng erg ?

A: Se3t , 7n2 T
B: Tid+ , Cu2 +
C: VZ + , T13 +

D: Zﬂ2 + ; MI‘IE +
Topic: Chemistry-Section A
Item No: 70

Question | 100270

1Q_}l/.Jpees:tion MCQ




B blene g WD Gaphs STrsHammn berarL. sarl s5de KMnO, 6
_ aucllenpwirenr wsallmCarpdl Coaid @& sCwrsCulaL FolulLrs

Question: - : : I ; >
Wpewwnrs el sss Searelled YsallgGarmmbd Csudlpg. erafle
Qeucilemande wrsatdlar g salnCamn Haewuld gou@b Qwrés wrHmbd :

A: 5

B: 1

C: 0

D: 3

Topic: Chemistry-Section A

Item No: 71

Question

D: 100271

Question

Type: MCQ

Question: | SpsawTL @eneamtsatlay aThE e Fmerdblaraager LI (HGL C&mer(herarer ?

A 2ig fler HmLDd enL_uieiq fle

B: Comqwid @&Germeny(h MHMILD 4,60l 6ot

c: Gamgwid 2 TfCer wHmibd enLuled Loifler

D: Cemqwib @&Germeny(h wHmd Camiquid ,réGear

Topic: Chemistry-Section A

Item No: 72

Question ID: | 100272

Question

Type: MCQ

Question: EpEHTL DDl 6ThHE eeTm eusdlenwimen WlFremevL L &ryn ?




H,C
A
CH,
|
A: N: CH
2 N7 3
H,C CH
~
CH,
H;C
CH,
|
B: N .
F i
CH, H
~
CH,
CHj
|
N
C: a
N
D:
Topic: Chemistry-Section A
Iltem No: 73
Question
ID: 100273
Question
Type: MCQ
Question: grlfpasml_ @Gﬁ)éﬁb‘l’&;ﬁﬂeﬁ GI'(I'_I';g; @GU[QJ @GEWGWﬁDD ol e eorudl 6v Q@JG}J@G}JQJ

clllenerClLIM(BLBMeTS H(HD ?




CH,

CH,
@ @
CH, CH,4

A:
CHj CH,
CH; CH,
CH, CH;
y CH; CH,
«—>
CH, CH,
D:
«—>r
Topic: Chemistry-Section A
Item No: 74
Questi
Do 100274
Question MCQ

Type:




o A8CN . NaCN

Cl
| s C,HsOH - H,0 CH;OH-H0  (pseinenio |
' eflener ClLim(meT ellener GlLimmer
creorm CopsaL allenaruiey 2 (heur@n Gambhiser ‘A’ whmib ‘B’ eraruer wpenmGw :

A: /\ g /\ ® =
B: /\ C=N ) /\ C=N

. ® ©
c: NG N=C P C=N

. ® ©
D: TS C=N, AN N=¢
Topic: Chemistry-Section A
Iltem No: 75
Question ID: | 100275
Questi
Q ;peesz ion MCQ

E,ggaasﬁtrrl_ elleneng Glgmfle 2 (reur@b elenarummer ‘C eremLg) :
Question:
Brz NHzOH P205
= » B » C
A
CHO
Br Br

A: \Q/




OH

Br Br
B:
CHO
Br Br
C:
CHO
OH
Br Br
D:
CN
Topic: Chemistry-Section A
ltem No: 76
Question ID: | 100276
Question MCQ

Type:




CH,
Cl
‘A (CeHCLO) —B 5 ¢ H.CINO ——2 >
Question: ( 8762 ) SHB NaOH
H,N
ereomm GopasaL ellenemuiley Gamold ‘A" eremLg)
@)
A: 'l
O
Cl
B Cl
H,C
O
ClI
C:
cl
CH,




O
H
D:
cl
CH,Cl
Topic: Chemistry-Section A
Item No: 77
Question
ID: 100277
Question
Type: MCQ
+
N=NC~
4 A M elem el Lim(merT

Question: (<= rEps - Hauliy Fmwb)

SpsarLeundler erg ellemaruier sriLliul(hearer ellemear syewil ‘A’-enau

GO Sng ?

Ok
A:
OH




%

C:
NH,

D: “
Topic: Chemistry-Section A
Item No: 78
Question ID: | 100278
Quest
T;Jpees:tlon MCQ

&Qaaﬁﬁn'rl_ clllenang LB TL OIS H(HSIS.

AlH (i-B CH,CHO
Question: (1) (1 1.1)2 > ‘A’ — 5 > B
(i) H,O B7&ENaOH, A @gﬁhmm
ellener GuimmeT

@réj@ ellenerlummer ‘B’ -eremLig) :
A or&c@ N=CH-CHjy
B:

H2N®CH=CH—WO




C: H>N CH,—N=CH-CHj
T

D: H,>N C—-N=CHCHO
Topic: Chemistry-Section A
Item No: 79
Question
D: 100279
Question
Type: MCQ
Question: | Sipaser Gaomiseafldy 6Tg ppoar eSHILHSHD DHBSDE 2 STTERTLD @D ?
A: OlgevGL_er
B: SO L_L_TE)
C: eumrl_GL b
D: LGrmesrGLméled
Topic: Chemistry-Section A
Item No: 80
Question
D: 100280
Question
Type: MCQ

Gairid ‘X - eramug Sblosgearenio CerarmLgl. @g NaOH sapgeiled Henrub
Question: | v NaHCO, sanggeiler sepyuwirgl. Guoaid G ‘X, pHbleame FeCly o L

sargm Hmbd smEG eraflewr Gambd ‘X - eremig) :

OH




OH

B:
CH,OH
C:
CH,OH
D:
Topic: Chemistry-Section B
Item No: 81
Question
D: 100281
?ues.tion Numeric Answer
ype:
@m WearsL g soear (Wearse wrdled 129 m~1) 745 ppm KCl segsemd
Blroudutigminlder 2ig Smb Weargen. 100 @ (sapged 1 erend Csmers). 24Cs
e G& s 149 ppm KC1 -sevygred Hlriuliu®oCurg oigh goudsgHm
WlengenL 50 ) (sanrge 2 eTans Glamens ). Hanggew 1 woHmID 2 -6 Goreomi sLggi$lmen
Question: 5
REIE ,«\_1 =xx107° erafled x-em LIy
2
(eflenL : 2ymdled 2 6mem (p(Lp eTewTemiled)
(AarhssiuL g : KCl -ar Guremt Hlenm 745 g mol 1)
Topic: Chemistry-Section B

Iltem No:

82




Question
ID:

100282

Question ,

Type: Numeric Answer
Crirjwueatl AT womb erdi wal B~ I dweniler sjwall gy rhisear wpeannGu
102 wHmib 181 pm. @Qélelwalser @m wel LQ&sDOrs UigsorssiuBhEmng.
FlenL&@ld UsD, B~ wellumrd er sar g7 Cpmhdl Curdbs iemwlimud

Question: . . . . . . . L .
Csram(herengl. enansdg eran(pdl eupdlLmiseneri|d AT eLggis Clareardng
erafled AB Ligsgdlen je@d gallgen allaflbl] Berd pm.
(eflenL : Bymdled 2 emar (p(Lp 6TevTamiled)

Topic: Chemistry-Section B

Item No: 83

Question

D: 100283

Question .

Type: Numeric Answer
Berid 2a, Csrawr e Lfloranrs u@Huler BHEmHL @@ erosrraflar Cousssdle
2 GTem GMDhSULE HFFLILLHM HemenD 15 . s

Question: | (@mki@ a, ererug GumT <y,rb 52.9 pm)
(QarHssiul_(Heterg) : ereodlraflem Blenm =9.1x 103! kg.
Germmiis wrhledl h=6.63x10"34Js )

Topic: Chemistry-Section B

Item No: 84

Question

D: 100284

1Q_ue§tion Numeric Answer

ype:
600 mL, 0.2 M HNO; -8 (5 @@ememuﬁ]ei) 2 6rer 400 mL, 0.1 M NaOH &g L 6
GCarg@wGurg Ghemeuulile epuBid Ceuliublena 2 wite x10-25C,

Question: i 5 i
(Bhbleneowindsed erangmeld =57 k] mol ~!
womid Bfler Hluw GQeuliub =42 JK-1 g=1)

Topic: Chemistry-Section B

Item No: 85

Question 100285

ID:




Question

Numeric Answer

Type:
303 K-afléd Biflev O, eumry @WlOuiL Lumdng, erafled 1 el Bfléd senyuyid
O, aumeiler Wleadl Gmasafler ererenilsama
Question: | (eflenl_ B(m&led 2 emer (p(Lp eTavTEmiled)
(QarhssiulL g : 303 K-alle) O, -ar Clamerdl ailg)l wmrpledl 46.82 k bar wmmid O,-ar
LGS 3i(1pssLd =0.920 bar)
Topic: Chemistry-Section B
Item No: 86
Question
D: 100286
Question ,
Type: Numeric Answer
PbS -éir senpdlmen GLmEsD 8x 10728 erafley gmu Bifler 298 K -afléy PbS -6 senydlmen
xx107 10 mol L~1. @k x-6or ol
Question: : ; ; :
(eflenL : 2ym&led 2 6Tem (p(Lp eTEvTEwTED)
(Qaer@ssiiulig : 2 = 1.41)
Topic: Chemistry-Section B
Item No: 87
Question
D: 100287
_?;pe;tion Numeric Answer
X wpmib Y -uilh@ Qe Guiwrer ellenar X -eg ClUM(BSS (PS5 cUms eSlenanmse,Ld
Y -g5 Qumrmsg Lol euend eflenanursed 2 6Terg).
e X] [Y] <7 eSenar G eussd
FHBER mol L} mol L} mol L1 min~!
I 0.1 0.1 2x1072
Question:
11 1 0.2 4x1073
111 0.4 0.4 mx 1073
1Y 0.1 0.2 23¢10~2
@msi@ ‘m’ omw I -er eran LHUEGDHE GenLulorer cdldlswn
(eSlenL : imdleL o eimem (p(Lp eTemremiled)
Topic: Chemistry-Section B




Item No: 88
Question
D: 100288
_?ues.tion Numeric Answer
ype:
e CrrGasrl(h dlgrbulamL(h (deucuGoaum =llGearm ojflemisearme =,6mg!)
Question: | Glaram(herer (WGam bl ecravmanflsans) (dHaierer ulienL (B AenewrLiL
erenTanilsens) gL
Topic: Chemistry-Section B
Item No: 89
Question
D: 100289
Question ,
Type: Numeric Answer
yermieuemer yCrmWGarmmd Glawig 1, 1, 2, 2-CG L gryCGrrGwr yGyriCGue
swris@h ellenanie 1 g yGrmllen Caid@n Cung (27% eleerdged) 1, 1, 2, 2-
Quigm yCprCwr yErmLGuen e &flng erafler Geuallaamnuie e ss 1,1, 2, 2-
Question: Q_gryGrrCGur yelpmrhCGuaflen erenL o |l
(eflenL (p(p eTemTEmTleD)
(yCrmblefler Gomemt Hlenm 80 g)
Topic: Chemistry-Section B
Item No: 90
Question
D: 100290
?ues.tion Numeric Answer
ype:
[Fe(CN) P~ @m 26 rbliird Smareyd Ceibbd. (Fem eredLymrer
Qeemur@n g nnae SMHGHe Gamerer GCouamr(hib) by Aename s Camgsler
Question:

Ligsl e Bleneoluhiggin nme (-) A,
(eflenL : 2y(mdled 2 eTem (p(Lp eTemuTamiled)




